M2 Off &b A Ml A
201949 = Z0il&ah 2 ersl
FA 2ZAsEYR
g 200 Mol
2 210 24 HM2 =8
Ej 211 Moty O =& (cte &
SA-&-2-8 O &4 & Ol &F K Hns
= A 4,772,824 8,463,132 23,690,308
aELGR 4,772,824 8,463,132 23,690,308
200 Al2l=+=¢l 876,372 1,175,607 A 299,235
210 ZYH M2 +¢ 876,372 1,174,607 A 298,235
211 A= 510,372 492,795 17,577
211-02 SFMHAL U= 510,372 492,795 17,577
OZZANLE dIHME AE2 460,012
O0lz=dl===3 A& gz 36,360
OMYHNAESIRA AES+20ItR 14,000
212 A28 +Y 235,000 523,239 288,239
212-07 e ¥+ 235,000 503,739 A 268,739
OLts&AIZ 2EE 160,000
Ol0ledl a2t 2= 75,000
214 At == ¢ 131,000 158,573 N27,573
214-09 JIEtAIEE =& 131,000 158,573 AN2T7,573
OZZAYRE 340y 2R3 69,000
Odidl=E 22 oletd 62,000
500 2x= 3,896,452 7,287,525 23,391,073
510 = 12X =S 2,594,423 5,570,274 A2,975,851
511 = E2x23SS 2,594,423 5,570,274 A2,975,851
511-02 = €L NSEIHNEXS 2,200,000 3,551,000 21,351,000
Oddl TOINE 224 x4 1,200,000
o=doizBdda x4 500,000
Ol =3 =4 500,000
511-03 Jl= 394,423 339,670 54,753
O2s2AZoiEA 25 N& 29,423
OUst2l= HIOtH & 10M 250,000
OUs2l= HIOHO & 106 (2 &) 115,000
520 Al - EHIEXSS 1,302,029 1,717,251 A415,222
521 Al - EHIEZX=SS 1,302,029 1,717,251 A415,222
521-01 Al - THIEX =SS 1,302,029 1,717,251 AN415,222
O=s2AZHEMN 85 N 32,529
Olstel= HIOIHE 10 75,000
OUstel= HIOIHE 106 (H &) 34,500
Odgoll CHOINE 224 =4 360,000
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